Calculus 12 Ch. 1: Limits and Rates of Change

Exercise 1.6 — Practice Problems

1. State the limit of the following sequences, or state that the limit does not exist.
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Calculus 12 Ch. 1: Limits and Rates of Change

2. List the first six terms of the following sequences
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3. Find the following limits or state that the limit does not exist.
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Calculus 12 Ch. 1: Limits and Rates of Change
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Ch. 1: Limits and Rates of Change
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Use your calculator to find t,, forn = 1,2,3,4,5,6,7,8,9,10,20,50,and 100

Does the limit below exist? If so, guess its value:

mn
lim -
n—-oon

.

44 4, = 26244

2
{
tod o
4y @ 8{7 'ég = H foo = 1S 0" cons \y weresf 4

© Lt pdE
Z6
{q: S12 kioo > 1.28x10

72




Calculus 12 Ch. 1: Limits and Rates of Change
6 @
5 tn = W

Use your calculator to find t,, forn =1,2,3,4,5,6,7,8,9,10,20,50,100,500,1000 and 10 600

Then guess the value of the limit. f——_{
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7. Fibonacci posed the following problem: Suppose that rabbits live forever and that every month
each pair produces a new pair that becomes productive at age two months. If we start with one
_newborn pair, how many pairs of rabbits will there be in the nth month. Show that the answer is
fn, the nth term of the Fibonacci sequence defined in Example 5 in your notes. A
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8. Find the limit of the following sequence by expressing each term as a power of 2
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Calculus 12 Ch. 1: Limits and Rates of Change

(a) A sequence is defined recursively by:
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Find t,, t3, t4, ts, t and then guess the value of lim ¢,
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Find the value of L by taking the limit of both sides of the recursive equation
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